Multiplikation von Briichen ( richtiger Bruch ) (
unechter Bruch )

EEN ool W Nl =
X X
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Datum: Ergebnis:
4 2
— X — =
3 6
1 5
— X — =
9 4
I 1
— X — =
3 5
4 5
— X — =
3 6
4 4
— X — =
8 5
7 3
— X - =
6 8
6 7
— X — =
7 9
7 2
— X — =
4 9
I 1
— X — =
3 2
1 4
— X — =
6 9
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Multiplikation von Briichen ( richtiger Bruch ) (
unechter Bruch )

Datum: Ergebnis:
10 1 4 2 4
— =1-= — X — = —
9 9 3 6 9
21 1 1.5 _ 5
100 “10 9 4 36
15 1 1 1 1
—=1— - X - = —
1 14 3 5 15
1 4 5 10 |
— __X__:__:l__
4 3 6 9 9
9 442
56 8 5 5
3 7 3 7
— - X — = —_
8 6 8 16
5 6 7 2
— — X — = —
9 7 9 3
E T.2_7
21 4 9 18
5 I 1 1
R — X — = —
21 3 2 6
1 1 4 2
— - X — = —
8 6 9 27
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